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wurs udeurd 2ereTHr 6T 65T LI S 60 &1
sAuTiggd AsTaTaraD. gL gefled @mmu&l@ulﬁldﬂ Y1)
saimsTaRiLTeTilLiD 2 L aig LTSS Qg Medl&sa|b.
& LG pSIISHEGU! LweTURES
GLD, =g 5CEHTE HOUSHSD Quenéled

siflejenrse : (1) SAPTSE Aarrés@Enn &

2) Beod S SEHUIL| @l
CouaT(HLD. LILIBI&ET QUG EUSD
LwaTU(HESaLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

LS - 1/PART -1
SIS aglemwésa@é;@m eflan L wefl&&Ha,Lb. 15x1=15

@y : ()
(i) Gardésiinl Herer D afenL_sefe Wseyd grpLenLw efenLenwd
. CarHtsHHES @i Gran efloLwlamanyn Cergs) GT(PSELD.
Note : (i) Answer all the questions.

Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1. sransCrrodad aarilGed
(<=1) Gaan (=) LT (@) mésar (/) euamdser

Cantharophily is :

(@) Bees (b) Butterflies (¢)  Flies (d) Beetles

L DEMESEIE clElGLOTENg) :

2. @RIGHD
(=) 9:3:3:1 (2p)12:3:1 (&) 9:3:4 (F) 9:6:1
The dominant epistatis ratio is :
(@ 9:3:3:1 b) 12:3:1 (€ 9:3:4 d 9:6:1

3.  Quniwed F[HE0rHHIEET SjQersgl erg ?
(1) Srorsdi, B, yrer (=) wréaen, GGLTslen

(Q) < oursd, S LmesdliT () srevdlésdi, ypoasr &SI

Which of the following is not a physical mutagen ?

(a) gamma rays, neutron (b) magnous, eosin

(c) alpha rays, beta rays (d). cosmic rays, UV rays

4: ‘'PSY yugmy QupruL HIeuLD :
=) erfaflafwr wACLTFT
2),) QETTET FTL6nL6uT

(
(
(@) pridlevaven GGLT priélavavey
() Asalighenm wy Grmua

Name the plant with gene ‘PSY".

(a) Erwinia auredorora

(b) Oryza sativa

(c) Narcissus pseudonarcissus

(d) Alcaligenes eutrophus
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2 enm (G@T urgsTiY Qeutiuflenay wierey :

() -196°C (i) -194°C

(=¢) (i) &, (i) geum () @), (i) @LTGW@ED off
(@) @ pou (i) & () ) @) @roOe 8D
Cryopreservation temperature is :
@ —196°C (i) —194°C

are correct

® (i)and @)

(a) (i) correct, (ii) wrong

(c) (i) wrong, (i) correct (d) @ (ii) are WTONg

GnSLsTL QUG auperflag sraupd ol ?

(21) AevLIFEED (<) e (&) guiLaneflu (r) LiflLyeos

Ephemeral is :
(a) Asparagus (b) Ziziphus (c) Opuntia (d) Tribulus

o gy FRHE — SUDIETENS S0 91q.556]D.

(1) e — el = LmibL] — Li(BBS

(<) HTEUTID = Qaul_[H&Hefl — genmren — LHBE!
(@) eredl = qpamTTen — (P — LGHS)

(7F) 2. 8lTHS @ene — R — Lpeal — LIGHS)

Which is wrong about food chain ?.

(a). Grass — mouse = Snake — Eagle

(b) Plant — Grasshopper = Lizard — Eagle

() Mouse — Lizard = Rabbit — Eagle

(d) Detritus — Farthworm — Bird — Eagle

[ §\®uu5 / Tumn OV¢
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8. @EApAny QeuOUlL SWOBT.GE srarmsd updu sflure

Qevemen sarLHs.

(<=1) pCarraflwmr &ymediuey - e dGraSlum
(=4) Ceverm_mestm SOTFT - g Aur

(@) yCrremQen glele.LiGermym - Ggen N AL
(FF) umigSeflwid aflevig Crme.Gunyen - < U fGasm
Choose the correct pair about Alien invasive species.

(a) Eichhornia crassipes - Australia

(b) Lantana camara - Asia

(c) Prosopis juliflora - South America

(d) Parthenium hysterophorus -  Africa

9. sLOUTE Hres 2b — Seupnes sadDl &8l ?
(=) opadlen, Glyasn Qarampearasl
(=) sflo eFors UweLESgonDd -
(@) Grmu, 2 epuaf BTEGD Spe 2L g
() cfleng @penerliugl SMOFDTELD
Which statement is wrong about Seaweed Liquid Fertilizer ?
(a) auxin, giberellin are present
(b
s

) used as organic fertilizer
(d) delayed seed germination

resistance to frost and disease

10. Gpmis erdliriy Spen 2 e w Beraml Grsn gl ?
(21) yar Gamoe (<) yer LT
(@) yar Seuaflbd (/) LLET LIy
Disease resistant variety of chilli is :
(a) Pusa komal (b) Pusa sudabahar
(c) Pusa swarnim (d) Pusa shubhra
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12.
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STTUET UASLID G@PDEEGID (PermEET :
@ wysefllall LwaTLBSGUMS @smgg,gm
(i) vwenhsmer siflefss0
(ii) ComLhmsmer 2 (heurd@sd
(iv) gifls, CQuliguiaL o arenel LLLI{HSS5S5
(<=1) (i), (i) &, (i), (iv) Seugy (<) (i), (iil) ST, (i), (iv) &M
(&) @) (i) seum, (iti), (iv) &M (/) (i), (i) &, (), (iv) seug
Practices to reduce carbon foot print :
(i)  Reduce use of Laptops
(i) Increase travelling
(i) Plant a garden
(iv) Use preserved and packed foods
(a) (i), (iii) correct, (ii), (iv) wrong  (b) (i), (idi) wrong, (i), (iv) correct
(c) (i), (i) wrong, (iii), (iv) correct ~ (d) (i), (iii) correct, (i), (iv) wrong

sflwmen eflaL_anw Caipels® :
Fapml : L GHDUSMS SIS Srairs srailud Gl g,rr@ﬂuum
SITENTLD : @@FL_ L6 2ipp sriGUTean G Yrsld Clasmaum Hreflwib.

(=) sammi &, smyewid il

(<) SaDmI HaU, SMTEWILD HEM)
(@) @mpmy &fl, snyewd Saup)

(FF) npm UM, FewsILd &l
Choose the correct answer.
Statement : Cereals not included in grass family are pseudo cereals.

Reason  : With carbohydrate and protein but gluten free.

(a) Statement correct, Reason correct
(b) Statement wrong, Reason wrong
(c) Statement correct, Reason wrong

(d) Statement wrong, Reason correct

[ SlmLys / Turn over
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13,

14.

Qurpsss.

(1) Gsmger () Smseuelenw GamlL(H5S
@ daffmaia @ LEfur adinobs
() CGslimedlan (1) cuedl Bleumpent]

(4)  @eflaanen (v) HPDCPTLEG el WEHS

(1) ()-(v), @-(), @)-(ii), -
(<) (1)-Gii), (2)-Gv), B)-(r (4)-1)
(@) -0, @G, Orto), @0
(/) (1)-(1), (2)-(ii), (3)-(ii), (4)-(v)
Match the following,

(1) Codeine (i) Rheumatic pain
(2) Vincristine (i) Antimalarial

(3) Capsaicin (iiiy Analgesic

(4) Quinine (iv) Anti-carcinogenic

(@ (D-v), @-0), @)-(). (4)-{)
(b)  (D)-(iii), (2)-v), B)-0). (4)-()
() (1)-Gi) 2)-(id), @)-(v), (4-0)
() ()-G), @-G) @)-(i), (4)-0v)

urpbuflu Geréd ymofliy guivenan QuUTheTTs uweru(heusg)

(<=1) e-@pps! (<) sleueny

(@) urdloudn (7) Qaramen &5 aa
Pulse used as traditional cosmetic :

(@) Black gram (b) Pigeon pea

(c) Green gram (d) Bengal gram
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7
QummHSSS.
1) efleriig @) GCamsmi
(2) Qeugdsed () o
(8) B (i) SHOTEHALID
4) smHH (iv) uradleflur
(<=1) (1)-(), @)-(), @)-(v) (@) -(i)
(<) (1)), (2 )-(iv), (3)-(i), @)-0)
() (1)( 2)-(iv), (3)-(), (@)-(H)
(/F) (1), (23 (i), (3)-() @-()
Match the following.
(1) Animals (i) Coconut
(2) Bursting (i) Poppy
(3) Water (i) Alangium
(4) Wind (iv) Bauhinia
@ (1)-@), (2)-G), (3)-(iv), (4)-()
b (1)-(i), @), (3)-(idd), (4)-(0)
© (1)), (D-{v). 3)-(), (4)-()
() (1)-(i), (2)-G). (3)-(), (4)-Gv)

L@ - I/ PART - 11

sreneuGuenid S50 AenrésErsE DO
Wief&ES6]LD.
Question number 24 is compulsory.

S sUMSHET Wrena ?

e waflGaayb. allarm GT o
6x2=12

24 -G(§ SETTIGLILINE aflenL-
Answer any six of the following.
AbEI(HETES Qsralldr sienwelilSmsL QuTmss &
Write the types of cell based on the position of sporogenous cell.

WIBIGET erenal ?

LOLETIT pmroufl
itance.

Name the extra chromosomal inher

EZ ﬁso'ésg;rrmr,rréza;drr _ @ srhssbem - SO

Give two examples of Halophytes.

[ Spus / Turn over
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19. srudl sL_gHulen uessel TO ?

Explain the types of vector.

20. B Sr{HSET :
(1) rrwrer QeuliInerL LG

CN |

(3) mews 5 QouLIILDETL-E STHSET

@ | 1
Fill up - Forest types in Tamil Nadu.

(1) Moist tropical forests

@ | |
(3) Montane sub-tropical forests

@ | |

21. Qsrepe o awiifl ereimmed eremar ?

What is Remote Sensing ?

22, sel9ear afflwb — elenyupSSa L.

Define Heterosis.

23. ‘eomuller’ LWeTSeT Wreneu ?

Mention the uses of “Aloin’.

24. slLan o QurGefl Camlumiiger dmliL] SDFBEDET 6T (PG!S
Write the salient features of Sutton and Boveri concept.



25.

26.

27.

28.

29.

30.

31.
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L@ - 111/ PART - 111

L wallgEayb, efl@nr erem

sTeneuCuenin gum) ellamésEnéE L Hup 651 .
x3=18

33 -&@ sLLmuwrs el wallssa)b,

Answer any six of the following. Question No, 33 is compulsory.
Genaveueti Gr(HEar — euernSHaLb.

Define epiphyllous bud.

<i@ueuchlgl ereammmed ereman ?

What is empirical law ?

Sl SL(H SGTLD GrenLig]| eremen ?

What are restriction sites ?

Hla euendlen euensaar ereneu ?

List out the types of plant tissue culture.

gl (p uflewmobd — QUENTILMIEHEE,]LD.

Define - Coevolution.

HreUTd SLIq&HaT GTGIMITED GTevien ?

Explain plant indicators.

@ped @gmrjnme‘m Quim elHEISET eTenal ? STTERTLD FoliS.

Mention and reason out the awards of Nel Jayaraman.

[lé_g]@gqg, / Turn over
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32. EbésamL afeurhiser AETET- Ardp euerys :
o Giflemd ererranies : LEDS 50 Sreauph 1000, e wpmid ered 250 + 250,
UMby whmb gemrmer 100 + 50.
Draw a pyramid from the following details :

Quantities of organisms : - Hawlks - 50, Plants - 1000, Rat and Mouse 250 + 250, Pythons
and Lizard - 100 + 50 respectively-

33. rUEY euETULLD GUENTS.

orugy GK - RF=24.6% LOTUE GS - RF wdu@Qua - 14.6% 0rUE SK - RF
HUQUET - 10.8%. |

Draw genetic map with Recombinant frequency (RF)

GK - RF=24.6% GS - RF=14.6% and SK - RF=108%.
LS - IV/PART - IV

Siemenissl CadTells@nsEL eflepLILaN&saLD. 5x5=25

Answer all the questions.

34, (i) smemman cuerrLIfer Lig Fleneoaer eranal ?
360608
(<) umpbufly elens LTgSMLIL| (PEPEET Wiramas ?
(a) List out the steps involved in Mushroom cultivation.
_ OR
(b) Explain the traditional method of seed protection.

35, (<=1) @irmALmidley gredlument sraursen. (pEAusglaid cranan 7
{6060
(<) gaflQse LTSID LwerUTH&eT erana ?
(a) Write the salient features of Arabidopsis thaliana.

OR
(b) Mention the application of single cell protein.



36.

37.

38.

11

(<) yGrm GLmAarmavl euamrLL leagmer LLD &IPS
élﬁbmgl
(<2) Bireump sreupriiser ereovas ? TOSEIEET HL-

(a) Diagrammatic representation of different stages of
OR

(b) Explain different types of hydrophytes with exam

NaTHESS.
Pmtoplast culture.

ples.

(=) peofom afiponp auariés, @rarLmd He® auflpenp GuaTi&]
CSGU@LI@'@,@&_
é{d)e\}@
puhigaflen padu Qeudurbsar el ?
ary succession.

(<=1,) uaelifeurés en

(a) Differentiate primary succession from second

OR

(b) What are the major activities of forestry extension centres ?

(<=1) apBeiass srarmsaid auenitéd apeppewil AUTGSS) H(mapa Saaildn
CUENGGET IITene ?
260608
() (1) Geugur@saler (p&ELSgeud pEHIEET 6T(HEIE:
2) uLLrenfl graupsglen LOFLE (DSBS
(i) safl (ii) e < enioadlLLb

(a) Discuss the types of Endosperm based on
OR

ariation. (any three)

ii) Flower position of Pisum sativum

the development in Angiosperm.

() (1) Bringout the importance of v
(2) Write the gene of (i) Pod form (

-00o0-
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